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def f fi t . In [6]: def fib(n): # write Fibonacci series up to n
St your_iunc |on_name(parame ers). ""Print a Fibonacci series up to n."™"
statements a,b=0,1
return expression whilea<n:
print(a, end="")
. N|EF2 define?| 20191 def2 A|Zbotal SH0 (2L XN, Mak 7ts) nig|a ~ab=ba+b
ol5t Xty AISHO| 75t AT Fr} 011235813 21345589144 233 377 610 987 1597
s HO[=EHH =29 o2 Il == 9—4.
- Y5 g4 AL XIFsIC)
ox|2 : 2|AE| XZ&st7|
def . = : 2l
keyv?/ord Fﬂgﬁfn Parentheses Colon * result = [] : KEre Hay 7|3k xPéS"P:.F, list Atz AL
HSE] PosonathTng (i - result.append(a) : agto| resultdl =7t X &EIC,
: In [9]: | def fib2(n): # return Fibonacci series up to n
— Assighment
indentation value =1 statement ""Return a list containing the Fibonacci series up to n."""
t 1 Return result =[] #Z2f N&H+ 4F
recurn vadlue . imen a,b=0,1
while a < n:
Function result.append(a) # IZ/ELIX] & F=I}
body a,b=b, atb
return result
fib2(2000)
Out[9]: [0, 1,1,2, 3,5, 8,13, 21, 34, 55, 89, 144, 233, 377, 610, 987, 1597]
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In [10]: def ask_ok(prompt, retries=4, reminder='Please try again!’):

while True:
ok = input(prompt)
if ok in ('y', 'ye', 'yes'):
return True
if ok in ('n’, 'no’, 'nop’, 'nope’):
return False
retries = retries - 1
if retries < O:
raise ValueError(‘invalid user response’)
print(reminder)

In [16]: ask_ok('Stop ??")

In [12]: ask_ok('End??") Stop ??s
Please try again!
End??y Stop ??s
. Please try again!
Outli2]: True Stop ?7?s
Please try again!
In [13]: ask_ok(‘End??") Stop ??ss
Please try again!
End??sss Stop ??sss
Please try again!
End??n 00 o

. ValueError
Out[13]: False <ipvthon-input-16-

In [21]: def normplt(m,s):
import numpy as np
import matplotlib.pyplot as plt
from scipy.stats import norm
x=np.arange(m-3*s,m+3*s,0.1)
plt.plot(x, norm.pdf(x,m,s),'b")
plt.show()
normplt(0,1)
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import numpy as np

import matplotlib.pyplot as plt

from scipy.stats import norm — Jupyter

x=np.arange(m-3*s m+3*s,0.1)
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In [34]: def normplt(m,s):
import numpy as np
import matplotlib.pyplot as plt
from scipy.stats import norm
x=np.arange(m-3*s,m+3*s,0.1)
plt.plot(x, norm.pdf(x,m,s),'b’)
plt.title(Normal (Mean=" + str(m) + ', STD=" + str(s) +') PDF’)
plt.show()

def gamplt(a,b):
import numpy as np
import matplotlib.pyplot as plt
from scipy.stats import gamma
x=np.arange(0,a*b+6*a*b*b,0.1)
plt.plot(x, gamma.pdf(x,a,b),'b’)
plt.title(Gamma (Alpha=" + str(a) + ', Beta=" + str(b) +') PDF’)
plt.show()
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New Notebook Save As
Open...
Enter a notebook path relative to notebook dir
Make a Copy...
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{1 ZE Adll 5 |n 2t2lof| ljupyter nbconvert --to python pdfplt.ipynb
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plt.title(Gamma (Alpha=" + str(a) + ',Beta=" + str(b) +') PDF’)
plt.show()
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In [37]: ljupyter nbconvert --to python pdfplt.ipynb

[NbConvertApp] Converting notebook pdfplt.ipynb to python
[NbConvertApp] Writing 590 bytes to pdfplt.py
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from pdfplt import gamplt, normplt

import matplotlib.pyplot as plt
plt.subplot(2,1,1)

gamplt(2,1)

plt.subplot(2,1,1)

normplt(2,1)
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